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Qht = Qtr + Qve

Qgn = Qint + Qsol

QH,nd = QH,ht – H,gn · Qgn

Qp,H = QH,nd / H
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Htr,adj =  btr,x[ i (AL,i · Ui ) + k lk· k + j j ]



HD = i Ai·Ui+ k lk· k

[W/(m K)]

[m]

[W/(m2 K)]

[W/(m2 K)]







[ ]



Asol,w = Fsh,gl · ggl · ( 1-Ff )· Aw,p

ggl = ggl,n · Fw
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Qint = { k int,mn,k} · t+ { l (1-btr,l) · int,mn,u,l} · t



QH,ve = Hve,adj · ( int,set,H - e) · t 





Fsh,ob,k = Fhor · min (Fov  , Ffin)

Fhor

Fov

Ffin



Qp,H = QH,nd / H
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Grazie 
per  

l’attenzione…
www.ediliziaenergetica.it

…e restiamo in contatto!


